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1) Review your lecture notes to make sure you know where the expressions given at the

beginning of the movie come from. Note: there is one other expression you should know, for
the second-order change in energy.
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2) Do the integrals which I left for you in the first exercise (question 2 from the Exercises for
Week 10). There should be sufficient hints in the movie for you to do this — if not consult

your maths notes.
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3)  After watching the first exercise, do question 3 from the Exercises for Week 10.
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4)  Check that the normalization factor C; in the solution of degenerate perturbation theory

problem (question 8 from the Exercises for Week 10), (about 35 minutes in) is 2-*.
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